5 4 3 2 1
'} | | |
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 K9925KT J-bolt, 3/8", 8"long w/6-1/2" threads 4
2 K9922KT Univ cable ladder clip round/angle 2
3 H3012KT38G Flat Washer, 3/8", HDG 4
4 H2002KT38G Nut, hex heavy 3/8", HDG 4
5 H3002KT38G Lock Washer, 3/8", HDG 4
4X 4X
UNLESS OTHERWISE SPECIFIED: NAME DATE
% ssainas T o] KENWOOD TELECOM
/ FRACTIONAL: :'1132 CHECKED TITLE: .
KENWOOD ONEPAGE bhcwi: 06 v o Universal Cable
Y i s i THReE PLACE DECIAL + 010_| Wr Ao Ladder Attach Kit
PROPRIE‘TAI;V AND (‘IOlN‘FIIDENTIAL \ !r’\gfg;ARSCC\;NEg’P\AEERTR‘C 2QV;AMENTS' RO u n d/An g | e
DRAWNG 1§ THE SOLE PROPERTY OF MATERAL ' SIZE [DWG. NO. REV
;Eg&%‘jﬁ%ﬁ?ﬁ QAA'R?'gR AS A WHOLE NEXT ASSY USED ON FINISH B T99 2 2 KT A
KEwoop oM e
PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:2 IWEIGHT: | SHEET 1 OF 1
L T T T
5 4 3 2 1



